This is a computer aided drawing and must not be altered manuelly

1268 @oee 130

Max wire pull s N
50 T (500 kN) 4 [ 1Bp

@7

r=.
="

@ Fits 1,5T GP shackl

1133
|
o4
PCD @864
#950

Max wire pull o
50 T (500 kN) \|

590
550
387,8
N
J

|

205
Center point of
gravity

316,5

mw ow oo n e w 2o
o o T o — [} =< ~ n Y
(=)} — ~ ™ <+ <+ wn o ~ © ©
L || | %
% % % %} Total weight: 655 kg
r 11 1 |Lubricating Nipple M10x1 DIN 71412A A4 0 kg
h ‘ ‘ 10 | 2 [Hex NutM24 DIN 934 Gr.8 0,1 kg
‘ ‘ 9 | 2 [Hex Bolt M24 x 220 DIN 931 Gr.8.8 0,9 kg
—+t+)>r-——-——— — 8 8 8 | 4 |Nord-Lock washer M24 NL24 ST 0kg
. | \ 7 | 2 [Tube 90-0023 PA 6-G 0,2kg
L=y ! ! 6 | 4 |Hexbolt M20 x 35 DIN 933 Gr. 8.8 0,2 kg
b :i_ef point for 5 4 |Nord-Lock washer M20 NL20 ST 0kg
olting pattern - ¢ - ¢ - ¢ ¢ - ¢ - ¢ ‘# - ‘# - 4 | 2 |Axle holder 9150 pin 16-0002 53551263 |0,8kg
3 | 1 [Bearing pin 9150 x 170 11-0013 S35512G3  |31,2kg
930 _‘ 2 | 1 [Custom sheave 9950 x PCD 864 x 130 09-0004-48 _|ST 216,9 kg
~ = 1 | 1 |Vertical lead block house 71-0004 S35512G3  |399,5 kg
Item | Qty Description Designation Material Mass
Projection: Gen. Tol.: Gen. Weld.: Gen. Roughness:
A_ A ( 1 . 10 ) C1©)|  nsiso27es-im| nsen 2871/ 288
Sheet size: Scale: Repl. for: Repl. by:
A3 1:10
e Vertical Lead block
: Wire pull 50 T / Wrapped angle 90 DGR
. Longhammerveien 7
Connection: 20x M24 bolts grade 8.8 - Torque: 665 kN 5536 H%ugesund ~ Norway
post@gleipnir.no et 2120-0004 o 0
[0 06.01.09 | Issued for Construction | SW | JAV | Ipnir| -
[Rev| Dato | Tekst [ Tean. | Kontr. | Godki. www.gleipnir.no Reference: T8L-0010 Sheet: 1of 1

CAD REF: T:|Teiknings arkiy 100 Lead 12120 Vertical Lead ic 12120-0004.idw

This document and all information and data disclosed herein or herewith are the confidential and proprietary property of GLEIPNIR AS
‘and are not to be used, reproduced or disclosed in whole or in part by or to anyone without the written permission of GLEIPNIR AS.

Contravention will be prosecuted.





